R R €y 8T 1T 0¥ 9.0 £1ZT HE HOT | £HPTHE HOT £0CT HE HOTI | €3
B FHY H Y 9V LV 1 7 LL°0 £07V HET HZ £00 HVIHZ £H8T HGT H 2 4
S ¥ N B g-¢ 0e 1 ¥e 6L°0 £09 HeETHS £09 HET HS L£AVT HGT HS 1%
L9011 E & L€ 67 T 9°¢ 080 £17v HOZ H L £H8T H 12 H 2 £00 HO0Z H L 0%
TS ¥ it 5 = ve 6G 1 L€ 8 "0 £0v HOZ HV £18 HOZ HTV £09 H6T HTV 61
BT ¥ g ¥ €61 6°¢ g8 °0 £10 H6T HZ £09 H6T HZ HIVT HST H 2 8T
BT ¥ 8 ¥ 19 °1 L°g 18 °0 £HOT HV HZT | £H2T HV HGIT HE8T HE H2T | LI
BT ¥ g ¥ Le T v 88 '0 £09 HIZHIT | £12 HZZHIT HEOT HOZ HIT | 91
A G 36T L€ IS°1 I 68 0 £102 H 8T H6 £48 H6T H6 £48T H ST H6 SI1
B Y L€ 8G T (7 68 0 £18 HLIHTI HH0Z H LT H T £49 HLTHTI A
B Y i % €°¢ LY 1 8¢ 16 "0 $HZTHS HZI | #HPT HS HZI £HOTHS HZT | €1
B Y 6°¢ gLl 8¢ 6 "0 £10 HT HI £42 Hz HI £40 HT HI zl
LY ve 091 6°¢ 6 "0 £17V HOT HE £48 HOIT H€ £42 HOT H€ 1
B Y R % 9°¢ LS T 7 6 °0 $HYTHL HOT | £48THL HOT $HZTHL HOT | 01
B Y R % €°g L1 9% G660 £19 HETHZT | £IPTIHET HGT £UCTHITHZT | 6
LTI & 8¢ 8G T 6°¢ 66 0 £18T HE H6 £102 HE H6 £19T HE H6 8
O Y ¥ L9 T 1% 00T £09THL HT £HIOT HS HT £19 H9 HI L
B X 0¥V g1 2 17 00T £19T HL HZ £19 HS8 HZ £0CTHL HZ 9
B S Y 8 ¥ 96 1 0°¢ 00T £022 HOEC HZT | £H0T H IS HGT £H8T HOE H 2T | ¢
B S Y 7 VL1 7 €01 £ACZ HSGT HIT | £HST HOT HIT LHOT HST HIT | ¥
BT ¥ 1°6 96 T 0°§ 021 £002 HBT H'T LAIPTHET HT L£HOT HGT HT €
0S¥ 2 B L€ €562 1% €21 £00T HOE HS £10 HICHS £02T H62 HS 4
QT & vy €12 7 €e 1 £12 Hzz He6 £18 HZZ H6 £H9T HIZ H 6 I
- e Amvw,mum“ (w) = 7| (S) Hif s | (W) = AR ESER @ P — oy
DS FFEE FEFEB Y Y
(€C~T1) =3110% WH

EFH—R

HOWE oY%l




